Mathematics
Arithmetic: Test 3a

Year 5
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[ Date
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Key Stage 2: Year 5: arithmetic test 3a

1 | 172-100 =
2 87 x3 =

3 1 _
3 |00 °
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4 | 5602-583 =

6 | 492+008-=
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7 | 82+100=

8 | 573224-56277 =
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10 | 70x8 =

1 3 _
M| 5+35°
12 | 58+ 4.62=
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13 | 692 x17 =

14 | 3774 + 6 =

@
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Answer Sheet: Key Stage 2: Year 5: arithmetic test 3a

iy

Guidance: Children will have 15 minutes for this test.

question answer marks
1 72
2 261
3 Lord
4 5019
5 42
6 5
7 0.82
8 516 947
9 64
10 560
11 % or %
12 10.42
13 1764
14 629

Total 16
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